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And he is liable for its responsibility - ANYINR2 299

OVERVIEW

The mwn in P2 ndon states:' If one is ®nvn another’s MAaw (for instance 7m17N)
thus rendering it worthless (for it needs to be burnt), the rule is that if he did it
M2 he is Mwd, however 712 he is 2»n. This is different than regular damages,
where one is liable whether it was Aw2 or 712, The X713 there explains that
legally (77073 n) he is 7o in all cases since this is a 72°1 XYW PR — an
unrecognizable damage. There is no physical change to the maav. It does not
appear to us as if the M77Y have been damaged. A 173°1 11°XW 1777 1s not considered
a proa. If it was done 7°112, however, the 0221 punished the perpetrator in order to
prevent people from wantonly damaging other people’s miv. Our case of D°X92
seems to be a 12°1 XY pr. Why is he 2n?! moon will discuss this issue.

mMooIn anticipates the following difficulty:
— (&0 P PHN NNY NY 29953 139NV PNT 2N DY 9N

Even though that an unrecognizable damage is not considered a damage -

mooIn responds:
— 45% PN YN IRNT PN 139299 NN

The "1 is of the opinion that this case of o°k?> is considered a recognizable
damage -
— N1VA £29)0 ANV DINDI NINY NI 999 99N Y

For it is obvious that it is 0°X%> when one sees the grapevines in the grain field.
It is known that grape vines and grain growing together are 0°X?3 and nX172 M0X. Therefore when
one sees the 0°R92 he observes (in his mind’s eye) damaged and worthless produce. The damage
is obvious and recognizable.’

mMooIN anticipates a question:
— MANVN DY ‘an PRIV 29 DY N NNLVN)

'9197.

? The damage incurred to the grain is not apparent. The 2°x2> grain looks like regular grain. The damage to the grain
is halachic damage; it is %172 70X, This damage is not apparent. Why is the 07577 5v2 liable for this damage?

? mooin is seemingly introducing a new concept. 72°1 P does not mean that there is an obvious physical damage
present; that there has been physical destruction thereby limiting or eliminating its usefulness. It is sufficient if it is
recognizable that the object suffered halachic damage. It is now unlawful to use this item in its customary manner. If
it is obvious that legally it may not be used, that is considered a 731 p1.

* A yw is a creeping, crawling type of animal. There are eight 2¥7w enumerated in the (5-v> ,X* *¥»w) 7100 that are
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And concerning one who defiles the purified products (Mm77v) of another, that is
considered 72°1 1°Rw P17 in all instances even when the dead y2 W is seen on the

MY, nevertheless it is considered a 713°1 1XYW P17, Seemingly there too it is obvious to all, that
these MIv are 81w since there is a YW on them. What is the difference between 2°X%> which is
considered a 12°1 p1i7 and Xnvn which is considered a 72371 1°Rw p1on?

mooIn responds that by m7iv -
- 5)9U39N OR Y11 9T 999 PYN YN NY

It is not considered a 12°1 p1°7, even if one sees the yW on the M"Y, The reason

is for who knows whether the n1777v are fit to become 0. However by o°X?> there are
no such mitigating circumstances. In all cases it is 2°k?2. Therefore it is considered a 13°1 pr.

mooIN anticipates an alternate solution to his question, and negates it:
— 453 1ORVY PN N M XONT 99D PPN DaN

However one cannot say the following to resolve the original question; why is he
27n? It is a 72°1 KXW P! Seemingly we may answer that indeed 2°X%> is also a

A2°111RW 21°7, and nevertheless he is 2717 —
— %1953 HY PMIN RNVM TN TAR 93 XN XY (ow) RNOND N 1D

Because the 0°517 punished him, just as the 2°151 punished one who is R%un the
mnv of another. The reason for the punishment of X»vn is in order that no one
should go and be X»u» his friend’s ny9mw.

mooIN negates this option:
— 15095 1) D991 J¥aV 9N WNMIY NI NINT

For here by 07577 n¥°nn there can be no such concern, that he will willfully cause
the other’s crop to become 2°X?, for the vineyard owner loses as well. His vines

Xnvn when dead. A dead 2w is considered an aX»W7 aR. It can be Xnun people as well as food.

> Foodstuffs cannot become X unless they came (willingly) in contact with water, before the Xm0 touched them.
This is derived from a (77 ,X> *32W) 205 which states Rw® 0% Po¥ R12% IWR 31 97 99n; indicating that it can become
Xnv only after it came in contact with water. Seeing the 7 on the M77v is not evidence that the MAv are Xnv. It
is possible that the n7v never came in contact with water, and therefore are not w21 to be axmw 72pn. That is
why it is considered a 1321 °Rw P11 (even if it is Xnw). See: ‘Thinking it over’ # 1.

% If the 17 would be that 73°3 1»Xw pii is always 109, then there is the likelihood that if one were angered by his
friend, he would avenge himself, by being X»nun his friend’s n117v. He would be secure in the knowledge that he will
not be liable for the damage since it is a 121 1°Xw prii. This may cause rampant destruction. Therefore the 0°mon
instituted that even by a 93°1 °XRw pri such as Xnwun, the perpetrator will be punished and required to make
compensation for the damage he caused. We may think that the same holds true in our case of 0°?2. That really it is
a 1271 RY P, nevertheless the 0°non punished him for his negligence and require him to compensate for the
damage. [The concern is that people may purposely inflict the damage of °X%3 on others.]
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are also 0°X?> and X172 MOX. We are not concerned that a person will be so spiteful to damage
someone else, when he himself is being damaged through this action. Therefore in our case of
o°R9> the o°non would not have punished the 07571 3, for there is no concern of widespread
vandalism; as opposed to axn1.” By mxmv the 0nan were concerned, for the perpetrator suffers
no loss.

mooIn offers another reason why the solution of 01p is inappropriate:
:AMNNNY Y NN SN‘m‘T 19122 NN OIP ON NI

And furthermore if the liability of the 0737 %v2 is a punishment but it is not a

real P17 he should be liable only if it was premeditated. A o1p is appropriate if the
perpetrator acts in a premeditating and purposeful manner to harm the other. In our case of nx mn
0127, the 0°X92 MO°K came accidentally; the wall fell in. The 07377 %¥2 did not want to make 29>
for the 77wn %v2a. There is no rationale to punish someone for an accident. For these two reasons
we can therefore not accept this solution that it is a 03p. Rather the reason the 01377 ¥2 is 21 is
because it is a 12°1 P1.

SUMMARY

O°R7D is a 2°1 P17 since it is obvious that the produce in this field (a mixture of
grapes and grain) is 7X172 MOX. However 1°"M1nY KXoy is considered a IRW P17
75°1 since it is possible that the food was never nxmw 92p% wom; the presence of
the y7¥ notwithstanding.

We cannot say that 2°K%2 is a 12°1 1°Rw P and he is X01p 2Wn 21 because: a)
There 1s no need for a 017 when the alleged perpetrator himself is being damaged
as is the case by o°X%5, and b) 01p is applicable only by 7°12; by 0757 n¥°nn he was
not a 71,

THINKING IT OVER

1. Why does m»oin distinguish between 0°X%5 and Xavn, that by o°X?3 it is always
obvious? It would seem that by o°X?3 it is also not obvious because could be it is
not % xm1?!”

2. What would be the 77 if someone plants wheat in a neighbor’s vineyard; is he
2>11 or not?

7 The point of a 037 is to prevent similar occurrences. If it is an isolated instance there is no need for 03p.

¥ It will be necessary to distinguish between the falling of the wall, which was not 713, but rather 01X3, as opposed
to his negligence in rebuilding the wall which may be considered 7122. However the 71 of not rebuilding a wall
would not seem sufficient to warrant a 01p, if 17 8"V there is no 211,

? See footnote # 5. See ("3 MIX) ¥, n"ma, (35 MR) 7",
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